This Question Paper consists of 29 questions and 10 printed pages + one outline map of India.

TH -3 H 29 UYT 9T 10 Hfgd IS + WRA 1 Teh Y@1-TH{a 2 |

Roll N.O' Co%@ll\t}: 51/ AS/3

SOCIAL SCIENCE Set| A
GICUSCRCRIED
(213)

Day and Date of Examination

iter &1 foq & foien

Signature of Invigilators 1.

Fterent o gEaTer

General Instructions :

1.
2.

51/AS/3-213-A ]

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page.
Also check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
given to you.

All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 51 /AS/3-A on the Answer-Book.

(a)  The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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TheTeft I & TR I8 W STIAT ST STy g |

FIAT YIS HT S o o T F Fot Je31 91 Y H1 Sq1 € GEA § T gom g F G
IR DU T | 59 o1 w1 S off A Tom g wiHew w0 A €

TS T H e IR fawed (A), (B), (O) a1 (D) H ¥ W TR IW AN T a0 &
SW-Yfedent § 3119 Wal W fafau

TS YT & Y- Gt gl & SR FAwifi srafy iR € 3 € ) ity % fer sverm
Q g9 T8l fen s

SW-YREaew1 ¥ qeam-Tag oM stuen Hfde ol & sifafea wal off stishwies foae o aemeff

1 AT AT S |

SO IT-Yfeden W Y3793 &1 wie g 51/ AS/3-A fag |

(%) gwaéﬁaf?ﬁ/aﬁﬁﬁ%l fr oft, afq e =1 @ 1= S T Tl Tk W H WS Hehd
sfirsh, &, <<, WS, ofen, qffe, o, weis, aof, ANEl, Stedn, eI, whishon,
TfoTq, STfan, AuTelt, HYHR, WEhd IR fHe |
F9a1 SW-Yeaert # fou T ot # fod 6 e frg amm # s faw w® €

(@) Afg a1 f&St wd s & srfiia fodt o= v § S fored € df oo 1 993 | g9 areft
Ffedi/Tafai st HER haa aeRt B |
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SOCIAL SCIENCE
( |THTSTeR TaFT )

(213)
Time : 3 Hours | [ Maximum Marks : 100
9 : 3 HUe ] [ quiish : 100
Instructions : (1) All Questions are compulsory and carry marks as indicated against each

question.

(2)  For Multiple Choice Questions four options are given. You have to choose
right option and indicate it in your answer book.

(3) Attach the map with answer script.

et : (1) At g7 3rfrard € 3R gE v & oA sud ama el T ¥
(2) gfoweE U % WR fawed @ T 1 oy WE oy g SR eTol
S-yfas § fafau
() o T a=fes &1 Sae-gfat & | et Hifer |
1.  Inthe given political outline map of India, mark and label the following with appropriate
symbols : 1x4=4
i K2

(i) River Narmada
(iii) State having highest sex ratio according to 2001 census
(iv)  Vishakhapattnam port

G U IRA % qeiTas YEr-wHtad |, frefated w1 Swge fowl @ quiey qon STk T
fafem :

() *2

(i) T T
(i) 2001 SO o STIER g Afeen faT Tqum aren T
(iv) foemeTagTH dewmE
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Identify and write in your answer book the correct names of four major biosphere

reserves shown as (A), (B), (C) and (D) in the given political outline map of India. = 1x4=4

feu 7T IRA & TSI WE-9Hfas § 9R @S9 SR &5 #(A), (B), (O), (D) |
T T 1 ST & ] UREIT J Sk Tel A TUH! Savyfasht | fafa |

INDIA - POLITICAL AND ADJACENT COUNTRIES HIRC - ofas IR geRf 291
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Note : The following questions are for the BLIND CANDIDATES ONLY in lieu of
question No. 1 and 2.

(i) What is biosphere reserve ? 2

(if) State any two objectives behind the establishment of biosphere reserves in
India.

(iii) Which is the only major port in the State of Karnataka ?

(iv) Name any two rivers of the Brahmaputra river system.

- N =N

(v)  According to 2001 census, which state of India has the lowest density of
population ?

de ;. T e T yee S gfgds udrenfi & fod wee S 1 a9 2 % v W
(i)  Ste TRfard & foreeh! Fad © ?
(i) o STRfETd & Y T % W foRedl <t Sqvdl 1 Seorg Hif |
(iii) e T 1 THAH FGTNE i 918 ?
(
(

iv) SE T gomel it feel < Afedt & W fafaw |
v) 2001 SFIUAT % STER YR % 6T T &1 SHESA T o H7 ¢ 2

3.  Which one of the following states has a bicameral legislature ? 1
(A) Odisha (B) Tamil Nadu
(C) Gujarat (D) Bihar
fretferfaa § & o T ¥ fogei fasim &2

(A) eifemm (B) diHarTg
(C) TE (D) foerR

4.  Which one of the following was a result of voyages of discovery ? 1
(A) Setting up of colonies in Latin America and Australia
(B) End of the slave trade
(C) Rise in the prosperity of the colonies

(D) Expansion of European commerce

frefafead § & &M 91 @S &1 F1 1 qRom o 2
(A) ifes stafeRt qen stegforan  Suferel sl o |
(B) T SR F T

(C) Sufereil =t wgfs o 9fg

(D) IO =iy 1 faear
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5.  Why did Europeans coined Medieval Period in Europe as a Dark period ? 1
(A) There was no significant development during this period.

B) They saw it as a period of interruption between classical period of ancient Greek
Yy p p p
and Roman civilisation and their own modern age

(C) There was significant development in Islamic world and India in comparision to
Europe

(D) All of the above

TR ¥ AEARTA Hl FATRRAT FHIA Fl Hal ?

(A) 39 HA H Sz Heaqul forenrd T2 gal |

(B) Hiifeh 3= T8 I AT AR 9 FATTRT HIA IR 7T MY HTel & 14 Hohe

F T F1d & &9 4 ol |
(C) U9 ! o1 | s&aniiHes g 9o 9Rd | "eerqul forshm™ gat |
(D) W gt
6.  Which one of the following was not a tribal revolt ? 1
(A) The Sanyasi Rebellion (B)  The Santhal Rebellion
(C) The Munda Rebellion (D) The Kol uprising
frfafaa 8 @ 9 o1 e fade @ on?
(A) Hard fage (B) W fose
(C) Heifamr (D) e fage
7.  Name the two important city states in Greece. 2
A % Y J&A TR T9 & 9 fafae |
8.  Define imperialism. 2
HHTIETE 1 T ferfa |
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How are human rights universal, fundamental and absolute ? 2

M AR I A, Tad iR 1ol S o S @ 2

Though Simla and Ludhiana are located almost in the same latitude, Simla is cooler 2
than Ludhiana during the summer season. Why ?

greifen Tormen aen e U & sty R feod § W en kwg § Rrden qftem & tfue e
@A ¥ | THh! HRIT AT |

State any four demands of the early congress leaders as they placed before the British
Indian government. 1x4=4

fofesr YRAT TREHR & WA B & FEHE Adqe R W TE fE=l AR A w1 Sead
TSI |

Describe any four economic impacts of British rule on various Indian Industries and
trade in India. 1x4=4

qRa & fafy= sar qan =R R fafes sr9m & 6= 9R snfefs gl &1 v sife )

Describe any four characteristics of tidal forests. 1x4=4

SR 41 &1 Tl 9r fasaet &1 9 Sifsu |

State any four fundamental duties as listed in the Constitution of India ? 1x4=4

IR dfaum § giad fhsl o) Aifds wel s == St |

Describe any four causes of regional disparities in India. 1x4=4

qRA H &1 STHAMAIsT] & fhgl IR HRON i Gga hifed |
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How did growth of transport and communication coincided with the growth of

4

4

4

4

4

4

4

imperialism ? Give any four reasons. 1x4=
qUTETE 1 fohd fhe TR 9REed R §9R & faea™ & @1y 99d gaT1? s 9’ SR
ERIELS
Explain any four consequences of World War L 1x4=
v fova 45 & Tl 9r aRoml &t samen Sifag |
Explain any four contributions by Swami Vivekanand in the areas of socio-religious
reforms. 1x4=
TSR - AT YUR & & § W@t faasm=< o =l 9’ ANEHI @i A&l hitaT |
Explain any four points of importance of roads in terms of connecting people and
ensuring socio-economic growth in the country. 1x4=
< H AT Dl SIS AT AHINSTh - 3T Taehtd §, Feahi & Tohal IR Tl i SATEAT hifT |
Bring out any four differences between political parties and pressure groups. 1x4=
TSI THE qef Sa1d T8 o e IR-9R fafy=rdien st werd | faug wifsm)
Explain in brief any two agencies which help to formulate public opinion. 2+2=
STHG FH0 § SR gl <1 TSl / Afenon i S S Sifag |
Classify environment on the basis of evolution. Explain them with examples from your
surroundings.
et 41 forehTe sl sha < TR I qferol h1 aviiendu HifSY | 39 STHAE % IS i
HE1 | AT Ty |
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23. Study the table given below and answer the questions that follow :
Station A

Temperature (in ° Celsius) and Rainfall (in cm)

Months T F | M| A | M| J T |]A] SsS|O]|N]|D
Temperature | 24 | 24 | 24 | 28 | 30 | 29 | 27 | 27 | 27 | 28 | 27 | 25
Rainfall 4 2 2 2 | 18 | 465 | 613 | 329 | 286 | 65 | 18 | 2

(i) Calculate the annual average temperature of Station A.
(i) Calculate the annual average rainfall of Station A.

(iii) Name two months in which Station A receives more than 400 cm rainfall.

[

(iv) What type of climatic condition Station A represents ?
& TS AR 1 eI R AR ST A= feu 7 gl & IR AN
BE-A
IO (° Sfewad /) agn oo (FH H)

R L TN T I O | A O - - A R N S O - . A I £ A 2 S B - A IR e
qoEE | 24 | 24 | 24 | 28 | 30 | 29 | 27 | 27 | 27 | 28 | 27 | 25
st 4 2 2 2 | 18 | 465 | 613 | 329 | 286 | 65 | 18 | 2

() WA ‘31’ % IR STHT AIHE FHi T HifSC |
(i) TIE ‘31’ I A THT THl I TOAT RIS |
(
(

i) T < A 1 A9 FareC T SR Ry 1’ H 400 It 9 sAfere aut gt 7
iv) Wy ‘31’ fHe gHR Ht Serarg i 9 € 2

24. ‘Rights have real meaning only if individuals perform duties’. Justify the statement
with any four arguments. 1x4=4

“ srfenmdl o1 aredfares 31ef quit ® 9 safer o199 SeAl ol UTet Hidl § 1’ 39 Y hl TR okl
&1 Ferrar 9 fag wifsu

25. Suggest any four measures that would empower women economically in our society.

TAR T § Sif 1 T €9 § 9K & o fohegl IR ekl o1 Fod ST |

1x4=4
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26. State any five main features of the 73'd Constitutional Ammendment, 1992. 1x5=5

73 o Gfaam "eiem 1992 % fow=l are fasivared s ==t S|

27. How did Medieval Indian culture represent a harmonious synthesis of traditions in the
fields of religion, arts, architecture and music. Support your answer with any five
examples. 1x5=5

TR IRATT TR o TR | o, hell, Igehan a1 Fid o & H q0aasi & Th
TSRO YT T YA hid! € 2 U STV ki el & 3R i Yfe wifew |

28. Explain any five major challenges faced by Indian agriculture. 1x5=5

IR Hi *F forsl e g FHifaal 1 AT Hifeg |

29. What kind of relationship exists between the Governor and the Council of Ministers of
a State in India ? Explain it in atleast five points. 1x5=5

qRd & fordll T59 & TSI a91 5hmed & gy 79 9oR & €2 S9! e el urm

forgatt ¥ siaia FiRTT
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